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I. Multiple Choice Question. 10x1=10

1) Ifn(AxB)=6and A = {1,3} then n(B) is

(@ 1 () 2 (3 (d) 6

2) If the ordered pairs (a + 2, 4) and (5, 2a + b) are equal then (a, b) is
3) If f: A — B is a bijective function and if n(B) = 7, then n(A) is equal to
@ 7 () 49 ()1 (d) 14
4) The sum of the exponents of the prime factors in the prime factorization of 1729 is
@ 1 (b2 (3 (d4
5) The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is
(@ 2025 (b) 5220 (c¢) 5025 (d) 2520
6) Given F; = 1, F, = 3 and F,, = F,.; + F,.» then Fs is
@ 3 (b5 (¢ 8 (d 11
7) An A.P. consists of 31 terms. If its 16™ term is m, then the sum of all the terms of this A.P. is
(@ 16m (b)) 62m (o) 31m (d) Zm
8) If the sequence t, to, t3... are in A.P. then the sequence tg, tig, tig,.... is
(@) a Geometric Progression (b) an Arithmetic Progression (c) neither an Arithmetic Progression nor a Geometric Progression
(d) a constant sequence
9) 1357
For the given matrix A= | 2 4 6 8 the order of the matrix AT is
91113 15

@ 2x3 (b)) 3x2 (¢ 3x4 (d) 4x3
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10) 1 0
IfA= (; ; i’) ,B=12 —-1]andC-= ( 02 ;) , Which of the following statements are correct?
0 2
(i) AB+C = (5 5)
5 5
0 1
(ii) BC = 2 -3
—4 10
2 5

(iii)BA+C=<
30

(iv) (AB)C = (:: ig)

(@) (i) and (ii) only (b) (ii) and (iii) only (c) (iii) and (iv) only (d) all of these
II. Answer any six question. 6x2=12

11) Let A={1, 2, 3, 4,..., 45} and R be the relation defined as "is square of a number” on A. Write R as a subset of A x A. Also, find the

domain and range of R.

12)  fAxB={3,2), (3, 4), (52), (5, 4)} then find A and B.
13) Let A ={1,2,3} and B = {x| x is a prime number less than 10}. Find A x B and B x A.
14) fBxA={-2,3), (-2,4),00,3), (0,4),(3,3),(3,4)} find A and B.
159 1ffix) =3x- 2, g(x) = 2x + k and if fo g = f o f, then find the value of k..
16) Check whether the following sequences are in A.P.
a-3,a-5a-17,....
17) 5 2 2
IfA=|—/I7 0.7 2| then verify (AT)T=A
8 3 1
18) : 1 2 1 -2 . .
Show that the matrices A = E B= 51 satisfy commutative property AB = BA
19) :
IfA= CO.S 6 sinf prove that AAT =1,
—sinf cos@
III. Answer any six question. 4x5=20
20) g
Let f: A — B be a function defined by f(x) = %—1, where A ={2, 4,6, 10, 12}, B=1{0, 1, 2, 4, 5, 9}, Represent f by
(i) set of ordered pairs
(ii) a table
(iii) an arrow diagram
(iv) a graph
(OR)
b)
If the function fis defined by
z+2 ifz>1
flz) =14 2 if —1<z<1
zr—1 if - 3<z< -1
find the values of
i) f(3)
ii) f(0)
iii) f(-1.5)
iv) f(2) + {(-2)
21) a)

Let A=x € W| x< 2}, B=x € N| 1 <x<4}and C = (3,5). Verify that
AxBNC)=(AxB)N(AxCQC)

(OR)

Find the area of the triangle whose vertices are (-3, 5) , (5, 6) and (5, - 2)
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22) 4
) Find the sum to n terms of the series 5 + 55 + 555 +...
(OR)
b)
Find the sum of
93+ 103 +....... +213
23) a) 1 .
5 2 9 . T TAT
If A= ,B= 1|1 2 | verify that (AB)' =B A
1 2 8
5 —1
(OR)
b) 3 1
IfA = { 2] show that A2 - 5A + 71, = 0
IV. Answer all question. 1x8=8
24) a)
Draw a circle of diameter 6 cm from a point P, which is 8 cm away from its centre. Draw the two tangents PA and PB to the circle
and measure their lengths.
(OR)
b)

A company initially started with 40 workers to complete the work by 150 days. Later, it decided to fasten up the work increasing

the number of workers as shown below.

Number of workers (x)40 (S0 |60 75

Number of days (y) 150/120{10080

(i) Graph the above data and identify the type of variation.
(ii) From the graph, find the number of days required to complete the work if the company decides to opt for 120 workers?

(iii) If the work has to be completed by 200 days, how many workers are required?

L e o e S e
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